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QUESTION 1

Which of the following attacks is based on the concept that IDSs cannot recognize Unicode encoded malicious data? 

A. DoS attack 

B. Fragmentation overlap attack 

C. Obfuscating attack payload 

D. Polymorphic shell code attack 

Correct Answer: C 

 

QUESTION 2

Which of the following file systems is designed by Sun Microsystems? 

A. NTFS 

B. CIFS 

C. ZFS 

D. ext2 

Correct Answer: C 

 

QUESTION 3

Which of the following software is used for Steganography? 

A. CryptoForge 

B. Fort Knox 

C. Dsniff 

D. Ethreal 

Correct Answer: B 

 

QUESTION 4

Routers work at which layer of the OSI reference model? 

A. Transport 

B. Physical 
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C. Presentation 

D. Network 

Correct Answer: D 

 

QUESTION 5

Andrew works as an Administrator for a Windows 2000 based network. The network has a primary external DNS server,
and a secondary DNS server located on the ISP\\'s UNIX server, in order to provide fault tolerance. Users complain that
they are unable to connect to the URL when using the secondary server. What should Andrew do to resolve the
problem? 

A. He should disable the fast zone transfer in the Advanced tab of the Properties window on the secondary server. 

B. He should select the BIND secondaries check box in the Zone Transfer tab of the Properties window on the primary
server. 

C. He should select the BIND secondaries check box in the Advanced tab of the Properties window on the primary
server. 

D. He should enable the fast zone transfer in the Advanced tab of the Properties window on the primary server. 

Correct Answer: C 
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